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£1- Our teacher turned to him angrily and told him ........... in the class.

1) not speak 2) not to speak 3) not speaking 4) didn’t speak

£Y- Primary teachers in Malaysia say that a class of 40 is too large, ........... university lecturers in Syria find a class of 200
normal.

1) whether 2) as 3) when 4) whereas

£Y- While we didn’t have a lot of problems with our car, we ...............

1) decided to keep the car for a while 2) sold it and bought another car

3) used it for long distance trips 4) didn’t repair it .

$¥- The new railway between Tehran and Shiraz is still under .............. It will be completed in near future.

1) instruction 2) production 3) construction 4) destruction

£&- We have had a good stance in domestic markets. Now we are taking a ......... view of our business.

1) natural 2) chemical 3) local 4) global

¢#- 1 asked my teacher a question which was ........... to the subject, and fortunately he granted to answer it.

1) rural 2) irrelevant 3) social 4) probable



£¥- The President's speech covered a range of foreign and ........ issues.

1) constructive 2) domestic 3) urban 4) emotional
£A- 1 had to ........ against 19 other people for the job.

1) win 2) Attack 3)Organize 4) compete
£4- Electrodes were attached to his chest in order to ...... his heart rate.

1) operate 2) prevent 3) measure 4) Observe
Cloze test :

Every day, seven days a week, Hamid stands in the middle of Tehran traffic, waiting for the lights to go red. He then moves
through the smoke and noise, ...10 ... on the sides of cars. If he is lucky, a driver will ... 11 ...out of his window and pull from
his hand a small sheet of paper - a poem by Hafez - in return for 500 Tomans .

The lights will go green and Hamid will then have to carefully return to his spot. If he is lucky, he won't get hit. Hamid is
five years old. Government ...12... that there are about 20,000 street children in the country, but NGOs say there are at
least 35,000 in the capital Tehran alone. They say 100 to 150 street kids die each month from malnutrition and dangerous
working conditions. Governmental organizations say that Iranian law needs to change in order to protect the ...13... of
working children.

¥-- 1) robbing 2) tapping 3) earning 4) locating
¥)- 1) manage 2) remove 3) lean 4) handle
¥Y- 1) hire 2) recoghize 3) establish 4) estimate
Y¥- 1) rights 2) issues 3) poverties 4) willings
Reading 1:

The study of history provides many benefits. First, we learn from the past. We may repeat mistakes, but, at least, we have
the opportunity to avoid them. Second, history teaches us what questions to ask about the present. The study of history is
not the memorization of names, dates, and places. It is the thoughtful examination of the forces that have shaped the
courses of human life. We can examine events from the past and then draw inferences about current events.

Another benefit of the study of history is the broad range of human experience which is covered. Human nature is an
important part of history: emotions like passion, greed, and insecurity have influenced the shaping of world affairs.
Anyone who thinks that the study of history is boring has not really studied history.

Y¥f- What is the main idea of this passage?

1) Studying history helps us to live in today’s world.

2) Studying history is just the memorization of the facts.

3) The role of education is to help students deal with real life.

4) Students should study both national and international history.

Y- In the first paragraph, inferences means:

1) graphs 2) articles 3) conclusions 4) situation

v#- Which method of teaching history would the author of this passage support?

1) Applying historical events to modern society. 2) Using flash cards to remember specific facts.

3) Weekly quizzes on dates and events. 4) Student competitions for most books memorized.
Reading 2:

While part- time jobs for high school students may be unacceptable in Japan, in American culture they are often seen as
an opportunity to teach young people about work responsibility and respect for others. A very popular job for a teenage
girl in America is babysitting.

It is not necessarily an easy job and requires both social skills and general ability. A good babysitter should know how to
take care of children and how to earn their respect. She must be able to get the children ready for bed and keep an eye on
them even while they are sleeping. In addition, she should be able to handle an unexpected emergency and be calm at all
times. Once the children are asleep the babysitter is free to spend the time doing homework. Such a job often involves
working on Friday and Saturday nights when many married couples like to spend the night going to a movie or the
theater. On such occasions they will leave their children in the care of a dependable babysitter.

Yv- According to the passage, babysitters mostly needed ......... .

1) in the early evenings 2) during the summer 3) during high school 4) on the weekends
Y A- Which one is NOT a responsibility for a babysitter?

1) To make sure the children are safe. 2) To keep a careful watch over the children.

3) To be sure the children go to bed on time. 4) To get the children to do their homework.
Ya- What is the value of a part —time job besides the chance to make money?

1) It makes you responsible. 2) It teaches you responsibility.

3) It fills up your free time. 4) It helps with your homework.

A+- Which sentence is NOT true according to the passage?

1) Most Japanese students work part-time. 2) Part-time jobs are welcomed in America.

3) Babysitting is popular among American girl students. 4) Parents hire a babysitter who is reliable.





